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2.40 Rule of Sum.notebook

Solutions

1. Determine the total number of
arrangements of three or four toys from a

basket of eight different toys.
3P3 —I—8Pq. = R4 + /LK
2016

A~ v’
d,oare&
fronB GO




2.40 Rule of Sum.notebook

March 04, 2020

2. a) How many ways are there to roll a sum of
7 or 11 on two dice?

b) How many ways are there to roll doubles
or a sum divisible by three on two dice?
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3. A game has players roll either one or two
standard dice. Which is the total number of
possible different outcomes?
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4. Which is the total number of arrangements
of the digits 1, 2, 3, 4, 5, if the even digits
must not be together?
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6. Application A motorcycle licence plate
consists of two or three letters followed by
four digits. How many licence plates can be
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7. A security code consists of either five or six

different letters. How many distinct security
codes are possible?
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